sociaciones Publico Privadas

vs) (A=atbcd) 0.00 0.00 0.00 0.00| 0.00| 0.00
APP 1 0.00 0.00 0.00 0.00] 0.00] 0.00
APP 2 0.00| 0.00] 0.00| 0.00 0.00 0.00|
APP 3 0.00| 0.00] 0.00 0.00 0.00| 0.00]
APP XX 0.00| 0.00| 0.00 0.00| 0.00 0.00
tros Instrumentos (B=a+b+c+d) 0.00] 0.00 0.00} 0.00} 0.00} o.eeL
Oftro Instrumento 1 0.00 0.00 0.00 0.00] 0.00 0.00
'Otro Instrumento 2 0.00 0.00 0.00 0.00 0.00 0.00
Otro Instrumento 3 0.00 0.00 0.00 0.00| 0.00 0.00
- Otro Instrumento XX 0.00 0.00 0.00 0.00 0.00 0.00
otal de Obligaciones Diferentes 0.00 0.00 0.00 0.00 0.00 0.00
inanciamiento (C=A+B) — _ —




